[S) X s = Q o=
E 5 = :g = ‘E <
= = | 2 = || 2] g 2
. . > T = S 2 ° =
IpizBuine, im's, 3 é 5 |- E| o | & z =2
) = 3 =
110 6aTHLKOBI CTY/eHTa 2 E £ E 8= 5 g y =5
= = ¥ |2 .| © = S g B ©
o B c |83 = Q <] > A
5 S |5 ] ¥ 8 5 2
> = < =R-1= = > &
1 | A |Kosampuyk FOnis TapaciBHa 92 91 91 | 94 | 94 % | 94 | 92 92,93
2 I [Tpunuk Nanuaa BacuiBaa 90 88 90 | 91| 91 90 | 96 | 90 90,67
3 I |boiiko Kcenis BitaniiBHa 90 90 9 | 93 | 93 77 | 94 | 90 90,47
4 I |Kyuipka Aunpiii AunpiioBuy 90 90 91 | 91 | 91 80 | 96 | 91 90,07
5 K [Xopxkasa Xpucrtuna Bornanisaa 90 93 97 | 90 | 90 83 | 80 | 93 89,78
6 K |ITerpiB Poman CrenanoBuu 92 90 90 [ 90 | 90 80 78 90 87,82
7 K |Tumxis FOpiit CepriiioBud 87 76 72 | 81 | 81 70 74 | 82 78,04
8 I |Camok Tersina AHaTouniiBHa 78 80 80 | 72 | 72 67 | 88 | 87 77,82
9 K |[ungun Jlro6os BacunisHa 85 70 80 | 76 | 76 80 | 70 | 70 76,04
10 | K [Tkauyx Poman MuxaiinoBuu 73 50 50 | 70 | 70 76 | 60 | 68 64,40




